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printf ("end\n") ;
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#include <stdio.h>

int main(void)

{

int i, sum;

printf (”?sum=%d\n” ,sum);

return 0;

}
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#include <stdio.h>

int hoge;
int myfunc(int 1);

//

main

int main(void)

{

int i;

hoge=3;
printf (”hoge=%d\n” ,myfunc(hoge));

for (i=1; i<=10; i++){

}

int hoge;
hoge = 1i;
if (i==10)printf (" hoge=%d\n” ,hoge);

printf (”hoge=%d\n” ,hoge);

return O0;

}
a

myfunc

int myfunc(int i)

int hoge;

hoge = 1+43;

return hoge;

}
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#include <stdio.h>
#include <math.h>

double helon(double a, double b, double c);

int main(void)

double x, y, z, area;

printf (?O000000000ON\t”);
scanf ("% %Lf%1fxc” |, &x, &y, &z);

area = helon(x, y, z);
printf (000000 = %f\n”, area);

return 0;
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